Vanersborgs BS
Onsdagsspel HCP 2019-05-01

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: -0.2. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 5 27.6 69.17  Birgitta Eriksson - Ingemar Johansson 85956 51590 Vanersborgs BS
2 1 17.9 62.43 Kent Johansson - Ann-Christin Johansson 3908 46161 Uddevalla BF
3 7 4.0 52.78 Allan Ericsson - Bror Andersson 10792 1752  Vanersborgs BS
4 10 3.1 47.82  Gun Johansson - Marie Cederlund 94006 85957 Vanersborgs BS
5 2 -6.4 45.54  LarsGunnar Andersson - Gunilla Liljekvist 20573 951 Upphérads BK - Vanersborgs BS
6 9 -7.5 44.78  Nils Albinsson - Sven-Erik Karlsson 65301 1760 Vanersborgs BS
7 8 -8.7 43.98  Gurli Lindén - Gullan Johansson 88330 88326 Vanersborgs BS
8 4 -10.3  42.86 Birgitta Wilhelmsson - Andrzej Luczynski 17196 81105 Vanersborgs BS
9 6 -15.5  39.26 Vivianne Fransson - Kerstin Frendin 88320 83506 Vanersborgs BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
7 8 44DV-3 #A 500 20 -20(10 5 2NV-3 &A 150 3.0 -3.0| 7 8 24 V+3 *6 -200 3.0 -3.0
9 1 44DV-3 &A 500 20 20| 2 4 2¢0-2 &2 100 00 00| 9 1 340+3 &K -230 1.0 -1.0
2 4 44DV-2 &A 300 -10 10| 7 8 3a4V-2 A 100 00 00| 2 4 58V+1 v7 -680 -20 20
10 5 4vy N-1 45 50 -30 30 9 1 4vS-1 +J -100 -3.0 3.0[10 5 44 V+2 &K -680 -2.0 20
- 6 0.7 - 6 0.7 - 6 -0.7
4 Vvast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 2 3vV-2 LY 200 30 -30( 8 1 44N= &2 620 30 -30(10 6 3NN+3 &5 490 3.0 -3.0
10 6 24 N= vA 110 1.0 -1.0|10 6 Pass 1.0 -1.0| 4 7 3NN+1 &3 430 0.0 0.0
4 7 INS-2 48 -200 -1.0 10| 4 7 3#0-= +6 -110 -20 20| 9 2 3NS+1 *6 430 0.0 0.0
8 1 3NO= v3 600 -30 30| 9 2 340= vT -110 -20 20| 8 1 3NN= &3 400 -3.0 3.0
- 5 08| - 5 08| - 5 0.8
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 2 2vS+1 &T 140 20 20| 1 2 3NV-1 v6 50 30 30| 5 8 44 0+1 2 -650 3.0 -3.0
5 8 3vS= &T 140 20 20 4 6 240+1 +vQ -140 1.0 -1.0] 4 6 464 0O0+2 +¢6 -680 0.0 0.0
4 6 4v S-1 &T -100 20 20| 5 8 34 0+1 ¢3 -170 -1.0 10|10 7 44 O+2 +¢6 -680 0.0 0.0
10 7 4v S-1 &T -100 -20 20|10 7 44 0= +3 420 -30 30| 1 2 5¢DN-4 &A -800 -3.0 3.0
9 - -0.3 9 - -0.3 9 - -0.3
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 7 2vN= 48 110 10 -1.0| 5 7 Pass 30 30| 9 4 4v0-1 *0Q 50 3.0 -3.0
9 4 2vN= 48 110 1.0 -10| 6 1 INO= v3 90 00 00|10 8 laV= vT -80 1.0 -1.0
10 8 2vy N= 48 110 1.0 -1.0/10 8 INV= v2 90 00 00| 6 1 4v0= aJ -420 -10 1.0
6 1 2vN-1 *J -100 -30 30| 9 4 24 N-2 ¢7 -100 -30 30| 5 7 4v0O+1 &8 -450 -3.0 3.0
2 - -0.2 2 - -0.2 2 - -0.2
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 10 3NV-1 vK 100 30 -30| 1 10 3NV +2 4Q -460 1.0 -1.0| 1 10 3vO= 48 -140 3.0 -3.0
7 2 2¢ V= vA -90 1.0 -1.0| 6 8 3NV+2 +K -460 10 -10| 6 8 2¢v0+2 +A -170 0.0 0.0
9 5 24V+1 vA -140 -1.0 10| 7 2 3NV+2 oK -460 10 -10| 7 2 3v O+l &4 -170 0.0 0.0
6 8 24 V+2 vA -170 -3.0 30| 9 5 3NV+3 oK 490 -30 30| 9 5 24N-2 *7 -200 -3.0 3.0
- 4 01 - 4 01 - 4 -0.1
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 6 4v0+2 &2 -680 3.0 -3.0| 2 10 4v N+1 v7 450 00 00| 7 1 24 N+2 v4 170 3.0 -3.0
2 10 3NV +3 +8 690 00 00| 5 4 4vN+1 +K 450 0.0 00| 2 10 14 N+2 va 140 0.0 0.0
5 4 3NO+3 &8 690 00 00| 7 1 4vN+1 ¢+Q 450 00 00| 9 6 14 N+2 v5 140 0.0 0.0
7 1 6NV= ¢+5 -1440 -3.0 30| 9 6 4vy N+1 LY 450 00 00| 5 4 2vV-1 & A 50 -3.0 3.0
8 - -0.8 8 - -0.8 8 - -0.8
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
1 4 3NN-1 *A 50 30 -30( 1 4 2vN+4 v6 230 30 30| 5 6 440-2 ¢ A 100 3.0 -3.0
5 6 3NS-2 +3 100 -10 10| 5 6 2vy N+2 48 170 10 -10| 1 4 440-1 ¢+ K 50 0.0 0.0
8 2 44S-2 43 -100 -1.0 10| 9 7 3vyN= 4 A 140 -:1.0 10 9 7 340-1 ¢+ K 50 0.0 0.0
9 7 3NN-2 ¢ A -100 -1.0 10| 8 2 4vy N-2 4 A 200 -30 30| 8 2 440= ¢ A -420 -3.0 3.0
- 10 -05( - 10 -05( - 10 -0.5
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 5 2NV-3 v2 300 30 -30| 4 10 4v V-1 46 100 20 20| 6 7 24V-2 ¢ A 100 3.0 -3.0
4 10 34 O-1 vT 100 00 00| 9 8 4v V-1 +6 100 20 -20| 4 10 INN-1 ¢+ K -50 1.0 -1.0
6 7 340-1 vT 100 00 00| 6 7 4e4V= +8 620 -10 10| 9 8 1a0= vQ -80 -1.0 1.0
9 8 240= vT -110 -30 30| 2 5 4eV+l v6 -650 -3.0 30| 2 5 3NN-3 a5 -150 -3.0 3.0
1 - 1.0 1 - 1.0 1 - 1.0
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